= HZX  100m B ph 4k
%ﬁi_-ﬁ TN — I = ok @

1[ 1] 1558 Jll—EEHIf_ﬂllLu F-3 11.31]+0.4
11 2] 1755|;B% AR |HF-3 11.58[+0.4
1| 3] 1568Z& H#H |fF-3 11.59[+0.4
1| 4] 1569[1lLA B [#F5-3 11.67[+0.4
1 5 1901[#5K zEth |HlfE-3 11.83[+0.4
1 6] 1911[XH EFE [AlfE-2 11.88[+0.4
1 71 1892|EH EfE |AIfE-3 12.04[+0.4
2] 1 1554257 @ #ME-3 12.22[0.0
2| 2| 1845|188 EA  [Ek~s A3 12.24]0.0
2| 3] 1765[/hMk BE |BF-2 12.28]0.0
2| 4] 1722|# EA FHRIZ-2 12.37[0.0
2] 5[ 1912 ,Ezls X BlfE-2 12.39]0.0
2| 6] 1701 03 | FX15-3 12.40[0.0
2| 7[ 2892 ZEH%;": -0 KAK-3 12.67[0.0
3 1| 144880 =&  |mnEr-2 12.28]0.0
3| 2] 1721|EHHA sk | FRIEF-2 12.380.0
3| 3| 1668|JEfE X | AK-2 12.40[0.0
3| 4] 1574|8ER B [#HPE-2 12.41]0.0
3| 5| 1570|% 3 N [fHE-2 12.43]0.0
3| 6] 1770|FEX BF |BF-2 12.47[0.0
3| 7[ 1557|pngE  #  [#HFE-3 12.87[0.0
4 _1]__1706|RB #— | THIK 3 12.35[+1.5
4] 2| 1772|EIE = BF-2 12.42[+1.5
4] 3] 1804[FKE [E BHF-1 12.61[+1.5
4] 4] 1861|AH BH [FyiE-2 12.62[+1.5
4] 5| 1630|dhfn MR [P -1 12.68[+1.5
4] 6] 1762|2% 1§ HF-3 12.77[+1.5
5| 1] 1855\ ILMH iEth_ |sx~r.m 2 12.63[+1.7
5[ 2]  1858|ERIJI HEF [&rim-2 12.66[+1.7
5] 3[ 1520{¢h)Il EE [HE-3 12.72[+1.7
5| 4] 1517|4F% B [BE-3 12.93[+1.7
5| 5| 1524[iTfx HE |HE-3 13.00[+1.7
5| 6] 18514 HEABEH |F~iH-2 13.04[+1.7
5] 71 1716|&H# %H FHRIZ-2 13.11]+1.7
5] 8] 1527 F4h E.? 13.17]+1.7
6] 1] 3953 En% % B |ElfE- 1 12.83]+1.8
6] 2[ 1622|XHR = |#F-1 12.94]|+1.8
6] 3| 1893|[EMH ftE [SfE-3 13.04[+1.8
6] 4] 1571iLffR EX [#HFE-2 13.09[+1.8
6] 5] 1665|FJIl & AK-2 13.10[+1.8
6] 6] 1718]|AEF EBA T—ﬁllﬁ 2 13.19]+1.8
6] 7] 1908]/MII EH  [AlfE- 13.42]+1.8




7] 1 1525 F & BHE-2 13.00[0.0
7] 2| 1522|FAEH FA |HE-3 13.17]0.0
7] 3| 1857|hngk BEAER |5k~ im-2 13.19/0.0
71 4] 1846[80 XF#F  |EE~iE-3 13.25[0.0
7] 5] 1723|IUTF #E [FHKK-2 13.32[0.0
7] 6] 1526|2H BN [BHE-2 13.33[0.0
71 7] 1576|ERIIMH [fHF-2 13.46[0.0
8] _1|__156/|ma e |ME -3 13.28|+0.4
8] 2| 1715[KKX HKFE |FHKIF-2 13.31]+0.4
8] 3] 1854|=#% BE¥E [FrEm-2 13.33[+0.4
8] 4] 16243FZAK Hith |#HPF-1 13.64]+0.4
8] 5[ 1860|{A@E SPAR |Gw4iE-2 13.70[+0.4
8] 6] 1573| AL EX [#F-2 13.75[+0.4
8] 7[ 1626|fFR I |#HPF-1 13.78[+0.4
9 1] 1613|210 feem M -1 13.39[+1.3
9] 2 1627FEA RX |#P-1 13.54]|+1.3
of 3] 1560/EE B [#F-3 13.80[+1.3
of 4] 1621|ikiE I%‘I HE-1 13.88]+1.3
9] 5| 1615|EE BE |#FP-1 13.93[+1.3
9] 6 1578|HHE #REE  [#HFE -2 13.94]/+1.3
ol 7[ t1671[1lLO E#E [KAK-2 13.95[+1.3
o 8| 1814|#H EE [HF-1 13.98[+1.3
10| 1 1801 IUE Hth [B+F-1 13.80]+0.7
10| 2| 1856|[MIE ZF‘HE |E4HE-2 13.82[+0.7
10 3] 1719[AE & FHRU%-2 14.00[+0.7
10 4] 1579|AR BEX |#FE-2 14.10[+0.7
10[ 5| 1480;#Mm f# [FHEF-1 14.16/+0.7
10| 6] 1673|8RH K& |KK-1 14.17[+0.7
100 7[ 1617[1RE E# |#F-1 14.22]+0.7
1] 1] 1483|= Tipe EHE 13.81|1+0.4
11 2| 1910[mN GEE  [AIfE-2 13.95/+0.4
11 3] 1907[ESR —#E |AlfE-2 14.09[+0.4
11 4] 19093R&ZF =K |AlfE-2 14.15[+0.4
11] 5] 3759[E® = Bl 1 14.28[+0.4
11] 6] 1816;EH K11 |BF-1 14.36]+0.4
11 7] 1629[E |l [Eth [#F-1 14.42]+0.4
12| 1] 3528|RE E4 T -1 14.10[+2.3
12[ 2| 1667[HE RE |[XK-2 14.18[+2.3
12| 3] 3397|AF £ HF-1 14.19[+2.3
12 4] 1813[4FZE ¥ [BF-1 1457]+2.3
12[ 5]  3234[mE KiE |[BE-1 1457(+2.3
12 6] 1A7T17[JIIAMMAEE | FHE-2 15.01/+2.3




13] 1 1862|FA3E = Brid-2 14.18[+2.3
13] 2] 3547[f8H K [FRG-1 14.33[+2.3
13| 3| 3540|FH LXK [FHE-1 14.37[+2.3
13| 4] 1625|% E 1= HE -1 14.53[+2.3
13| 5[ 3758k BB |BlfE-1 14.60[+2.3
13[ 6] 1631[EA Eth [#F-1 14.87[+2.3
13| 7] 1808|ILUA =i |BHF-1 15.13[+2.3
13| 8] 1852|¥&fF BEA iy iE-2 15.28[+2.3
14] 1 1489|SH & A1 13.80]+0.5
14 2| 3541[chJIl EAN [FRIF-1 14.69]+0.5
14| 3| 3526|1F@k —hmk  |FHKE-1 14.70[+0.5
14 4] 3401880 1E#  |[BF-1 14.95(+0.5
14| 5] 3546|Edt s [FHE-1 15.17[+0.5
14] 6| 3529|%t EE | FHRIF-1 15.20{+0.5
14 7] 2977/ +H B HF-1 15.22[+0.5
5] 1| 2976|2% ZA |HF-1 15.16/0.0
15| 2| 3533|EAR X [FHRIEK-1 15.24]0.0
15| 3| 18114k BEA |BF-1 15.37]0.0
15 4] 3394| K4 BEE |[BHF-1 15.53[0.0
15 5]  3537[7HE % FHIUF-1 16.05/0.0
15 6] 3313[EJIl & HE-1 16.10[0.0
15[ 7] 1619|&ZK —/\ |[fF-1 16.18/0.0
16] 1 18534+ —&F |FyiE-2 14.71]-0.3
16| 2| 3539|M4E B2 T -1 15.32[-0.3
16] 3] 3321[lUx ZE |IEFF-1 15.52(-0.3
16| 4] 1675|488 #hK | KAK-1 15.57(-0.3
16 5| 3538|557 SHEH [FICi-1 16.10[-0.3
16| 6] 35M|BBKR EE  |[FHKEK-1 16.17/-0.3
16 71 1577[%% BE [f#F-2 16.57/-0.3
17] 1 1492|1UH gt  |SFHEE-1 15.46[-0.6
17] 2| 3551|=H B&th [FHRIEK-1 15.76/-0.6
17 3] 3761|FHEFE KX— |AlfE-1 15.83[-0.6
17 4] 1681[BO fifE |[XK-1 16.18/-0.6
17 5] 3760(#8A& EiE  |AlfE-1 16.60[-0.6
17] 6] 1809|;%%r E# [BF-1 16.66]-0.6
17 7] 1815|248 Z&% |BF-1 17.20/-0.6
18] 1 3230|FEH —#E |HEBE-1 14.51]+2.0
18] 2| 3399[#AK Fth [BHF-1 15.45(+2.0
18] 3] 3393[;TO i [BF-1 15.49(+2.0
18] 4]  3400|Bafz =K |EHF-1 15.75/+2.0
18 5| 1618[/M#k E K [fHF -1 17.02]+2.0
18] 6] 3231 |iME EE [BE-1 17.38[+2.0
18] 7[ 3548|@EK ARMR  [FHUE-1 17.85[+2.0




e

= £ 200m Eﬁgﬁ% -

#HIE] Fon - % HI E-FF SoEx% JE
1] 1 1558[JIZEHRIE |#F-3 23.06/-0.9
11 2| 1755|B%E AR |BF-3 23.86]/-0.9
1] 3] 1892|&A% E# |Bl{E-3 24.20]|-0.9
1] 4] 1554|328 7 #HE-3 24.49]-0.9
1] 5| 4704|%7q FBHEME |[ASSA-TC-2 24.63|-0.9
1| 6] 1701[{F@E #03E |[FCi5-3 24.81[-0.9
A 18454 A |84 iH-3 24.65]+0.2
2] 2] 1912|)BER Bk BlfE-2 24.92[+0.2
2| 3] 1448;E0 w2  [#FHE-2 25.08]+0.2
2| 4] 1722|#% EK FHE-2 25.12[+0.2
2| 5] 1704|H{R #hilE | FHRIF-3 25.88]+0.2
3[ 1| 1574|ReE e |@PF -2 25.31/0.0
3] 2 1706|EA %= |FHRIF-3 25.42|0.0
3| 3] 1570|%H AN [HE-2 25.43[0.0
3| 4] 3893|MHE PE BH5-2 26.88[0.0
3| 5] 1527[Nik FEth [BE-2 27.02[0.0
K 1630| AR HER [fHE-1 25.70/0.0
4] 2| 1757|=% %  |BF-3 25.90/0.0
4] 3| 1897|KTF ik |BIfE-3 26.14]/0.0
4] 4] 2892|{k@E EP XK-3 26.61]/0.0
4] 5| 1517|fFEk B |BE-3 26.71]0.0
4 6] 1450[lUK M1  [InFF-2 26.80(0.0
4 7| 1567(AHN HEE |#F-3 26.98/0.0
5| 1| 1764|mH BA |HF3 24.19/0.0
5] 2 1622|XHE B= |#F-1 27.1410.0
5| 3| 1854|=%t BB [BriE-2 27.57]0.0
5| 4 1576|RABJIFEHE |[#HFE-2 27.94]0.0
6] 1 1723|IUF #84%  [FRIZ-2 27.34/0.0
6] 2| 1627 RX [#HFE-1 28.34[0.0
6] 3[ 1573| AT EX [#HF-2 28.40[0.0
6] 4 1671|lLO FiE [KK-2 28.60/0.0
6] 5] 1719 A% & FHRU%-2 29.17/0.0
6] 6| 1578|hi[R PRIL  [fHFE-2 29.26/0.0
6] 7| 1615|BR BE [f#HF-1 29.35[0.0
7] 1] 16695 mk Z5F | AA-2 28.69]0.0
7] 2| 1907|;EER —#E |ElfE-2 28.80[0.0
7] 3] 1489|5H & EREE-1 28.96(0.0
71 4] 1519 AR BK  [#HFE-2 29.79]0.0
71 5| 1667|HE RE [KK-2 30.10[0.0
71 6] 117l AmAR  [FHRI%-2 31.51]0.0




hf  BEF  400m B

HMIE| fon-| & §#1 |ME-F&F| L&
1| 1] 1568 B&H |[f#HF-3 53.99
11 2| 1903[@M@A #E [AlfE-3 57.19
1] 3] 1704|i{R hifE  [FHRIK-3 57.79
1] 4 1896|=H %04t |BIE-3 58.14
1] 5] 1705\ AfEKXEE [FHRIK-3 .58.39
2 1 1766[db#t  %F B¥-2 58.14
2l 2] 1897|KTF Ytk |AlIfE-3 61.85
2| 3| 1439|KE %z  |3RFF-2 61.85
2] 4] 1669|FEm #EF | KK-2 64.10




hz BEZ  800m Bt 4k
AIIE] Fon—] & Bl | FE P& sk |
K 1652/l Blth [ KK-3 2.07.50]
1| 2] 1766|db4t £ HF-2 2.08.66
1| 3] 1565|%F &=ic |[MPE-3 2.09.28
1| 4] 1559[dtJIl BEK [#F-3 2.14.30]
11 5] 1727|AR {EZE [FHRIK-2 2.14.33
1| 6] 1563;FK B2 |[##F-3 2.15.88
11 7 1914|6H F&E |BlfE-2 2.17.86
1 8] 1921[luh HREB |AlfE-2 2.24.12
1 9] 1438+t #a  |[IEEP-2 2.32.83
2| 1] 1919|EF £ [AlfE-2 2.22.32
2| 2| 17683RlF EXE [HF-2 2.22.36
2| 3[ 1924/l BE  [BIE-2 2.23.31
2| 4 1769|lUK EF  [BF-2 2.24.26
2| 5] 1915[dt)1l 1A BlfE-2 2.25.36
2| 6] 1849|d %t Srid-s 2.28.99
2| 7[ 1916|#&Hk #i—ER [BIfE-2 2.30.85
2| 8] 38%4|FHH HZEF(BE-2 2.31.43
2| 9] 1773|9F BEE |BF-2 2.31.56
2| 10| 1616(#258 25 |f#FE -1 2.32.75
2| 11 1803|#¥aFH ZEEh |HF-1 2.35.24
2| 12| 1709\ B [FHKIE-3 2.36.13
3] 1] 1863|FE & SArim- 1 2.28.85
3| 2| 1575|FEK EHh [#HE-2 2.36.86
3| 3] 1807[FFH EA |BF-1 2.37.23
3| 4] 1812|F3X HIXK|BHF-1 2.40.77
3 5] 1617]1FE Tt [P 2.41.10]
3] 6 1920|%H HE [BIffE-2 24423
3 7 19171 BAX [BIfE-2 24587
3] 8] 1810|&:E =p HF-1 2.47.23
3[ 9f 1817(H9W =Rt [BF-1 2.48.45
3] 10[ 1580|;5/K {EXEA [#HF -2 2.48.88
3] 11 1805[/M 4k EE¥R  |BF-1 2.52.65
3| 12| 1806|#&% k—BER |BF-1 2.57.20]




EF¥ _1500m B4k i}
M1 NE | T £ HI g -5 SoEx%
1 1 1563[;F/K &2 HE-3 4.27.98
1 2] 1559(dv)Il BER #HE-3 42819
1 Bl 1525(TF & BE-2 4.30.36
1 4] 1482[)I1dt & EREE-1 4.32.36
1 50  1914|&H #AE ElfE-2 4.36.34
1 6] 1439[KE <z FRE7-2 4.36.46
1 71 1652]/h I Alth KK-3 4.42.11
1 8l 1847[FEF JX il 4.43.80
1 9]  3230|FHH —i## BHE-1 4.48.29
1] 10] 1518|fMHME BhK BHE-3 4.48.68
1 11 1654\ # RAK-3 4.52.02
2l 1] 1653 =0 Bk [ KAK3 4.41.21
2 2] 1657[EiE wfE AA-3 4.41.23
2 3| 1919|E8 =1ih BlfE-2 4.43.93
2 A 1767|FE ik BF-2 44515
2 51  1572[fE00 & HE-2 4.4599
2 6] 1915[dt)Il 1A ElfE-2 45163
2 N 1624[FEX #it HE -1 45292
2 8] 1916|#ki&k #—BER |[BIfE-2 4.53.00
2 of 1921|lLdh HREBE BfE-2 45381
2l 1ol 1662|1AFF XHE AK-2 4.55.70
2l 11 1664|451/ $REE AXK-2 4.58.38
o 12]  1923[#IL ME BlfE-2 45858
2l 13] 1655(F/E ihth KAK-3 4.58.99
20 14  1481|HA= FBA EHEP-1 4.59.37
2l 15] 1487|ED B%E EREE-1 5.03.84
2l 16]  1555[FaERE—ER #HE-3 5.08.02
2l 17]  1803[iNFE EEdEH -1 5.08.30
o 18] 1660|EFH = RKAR-2 5.12.85
2 19] 1564|MH HEX #HE-3 5.26.73




3 1 1769|LUA EFH BF-2 4.56.59
3 2l 1924[/MIl BA BlfE-2 4.57.06
3 3| 1438[H#T AT InFr-2 457.38
3 4 3233t BEX BHE-1 4.58.85
3 50  3530[(%& HE FHRIUF-1 4.59.49
3 6l 1484|FF H= A1 5.01.21
3 71 1863[FEER 1B E-1 5.04.73
3 8l 1773 Ft BE HF-2 5.06.80
3 of 1768|iRiF S B¥-2 5.06.85
3| 10] 1575|@&Ek it HE-2 5.09.07
3| 11  3235lRE)II HE BE-1 5.09.25
3| 12] 16i16[#E E#F #HE-1 5.09.43
3l 13l 3549|F T RE FHE-1 5.13.17
3l 14l 1659|#EH —iE RKAK-3 5.18.68
I 151 1775| 8 B2 HF-2 5.19.98
3] 16]  1812| F3kXK K [BF-1 5.20.98
3| 17] 1670[#AF 15 KAK-2 5.23.58
3| 18] 1674|)Il fk KA1 5.25.49
I 228 1619|k2 &K —)\ HE-1 5.27.29
3| 23]  1580[F/K {EKER [fF-2 5.35.80
4 1 1917 EX ElfE-2 5.18.24
4 2]  3311|&F KWRE  |IEF-1 5.20.17
4 3] 1807[FH ZEA HF-1 5.22.22
4 4 1618[/hHk K P -1 5.23.42
4 5]  1676|% R —1& AXK-1 5.23.89
4 6] 1678[F=E KA1 5.27.10
4 71 1920(%A #HE BlfE-2 5.27.70
4 8l 1805|/1#k EERR HF-1 5.30.78
4 9 1810|332 = HF-1 5.37.50
4 10l 3542[dh%t & FHUE-1 5.38.67
4 11 3550 LI & FHIUE-1 5.40.24
4 12] 3532]EE EE T - 1 5.42.56
4 13]  1488|&REF EAXER |TFHE-1 5.45.97
44 14 1817[p9H HiH HF-1 5.49.20
4] 15| 18064k x—EB HF-1 5.52.87
4] 16] 3534|{kfE ¥E FHIUE-1 5.53.87
4 17]  1679|%58 EEE AA-1 5.54.73
4 18] 3231[IE FE BHE-1 5.56.88
4 19] 1675|484 A AXK-1 6.05.50
4 20] 16810 fyE A1 6.06.13
4 21 3543|5% [E FHIUF-1 6.19.10




= £ 3000m %% ]
e Fon-] % & P& -4 SCE%
1] 1 1522[FAH FA |HE-3 9.32.56
11 2 1713|&HJ)I BEeR  [FHRIZ-3 9.34.36
1] 3] 1565|#iE =i [#F-3 9.40.61
11 4] 1711|E)N BE  [FRIL-3 9.46.80
11 5] 1918|FH w=th |[BlfE-2 9.47.98
11 6] 1728|dH#H K& |FHRIF-2 9.57.10
11 7] 1708{&%E %# [FHRIEE-3 10.10.84
11 8] 1521|3EH FITF |BE-3 10.19.27
11 o] 1657[3EE HfE | KK-3 10.26.52
11 10| 1516|HA% #IK |HE-3 10.27.41
1] 11 1654|171 # KK-3 10.27.96
1 12] 1572[880 & [HE-2 10.28.34
1] 13|  1564[Wk@A #K [#F-3 11.18.27
2| 1] 1482|)1dk EH [FHE- 10.07.76
2] 2[ 1651|9% B | KK-3 10.20.10
2| 3] 1767|FEk H=E [BF-2 10.28.49
2| 4] 1653|BIF BB [ KK-3 10.35.97
2| 5| 1662|4EF BB [KK-2 10.48.56
2l 6] 1726])II0 BuE [FHRIZ-2 10.49.80
2| 7] 1724|EM6E EBA | THRIE-2 10.58.23
2| 8] 1655|FkjE #hih | KK-3 10.58.44
2| 9] 1481|HF BBA [FHF-1 11.04.39
2] 10[ 1923|#L &k [BIfE-2 11.09.48
2| 11 1664|490 FREE  [KAK-2 11.11.25
2] 12[  1729|PBRER &) FHRUE-2 11.11.68
2| 13|  1484|FF HE=E |FHEFF-1 11.20.47
2| 14] 1775|" BEZ H¥-2 11.30.32
2] 15 1487|B3 EBEZ  |FHE-1 11.44.47
2] 16] 1670[#A F 1§ AAK-2 11.53.26
2| 17 1676|ZFE —#t | KK-1 11.56.83
2| 18] 1674[mJll AKX | RK-1 11.59.46
2| 19] 1659|#H —#E [KK-3 12.00.96
2] 20| 1678|3rE & KA1 12.04.65
2] 21 1660/ 5% FE&F [KK-2 12.12.88
2| 22| 1679|5730 wHE  [KK-1 12.39.14
2] 23]  1488|&EF EZEXER [FHE-1 12.46.75




h BEF  110mH Bt 4k

HMIE| fon-| & §#1 |ME-F&F| JE
1 1702[fK & [|FHRIZ-3 16.90(-0.4
1] 2[ 1765/M#k EBER  [BHF-2 17.07[-0.4
1| 3] 1757|&% E£th |[BF-3 18.79]-0.4
1| 4] 1526|Z2H BN [AB-2 19.83]-0.4
1] 5] 1665|d ]Il & RAK-2 20.82|-0.4




BF E=3Bk P iER
JBRE  Fon— £ Al BilE: ECER

1 3548 K #mk  FHRIEF-1 NM

2 1620 %k FBF W MPE-1 1m 30
3 3544 XK EE FHE-1 1m20
4 3758 kR BB AlfE-1 1m 20
5 3761 HiE K—  BlfE-1 1m25
6 1814 #EH Z{A H¥-1 1m35
7 1908 /NI Hih o BlfE-2 1 m 50
8 1860 {EER SBAR  EiyiE-2 1m35
9 1656 JEH B#F RKAK-3 1m 60
10 1857 Nk fEKER B~ridE-2 1mb55
11 1571 U EK  #HF-2 1 m 50
12 1858 ER&II H#F HHiH-2 1m 60
13 1764 FkEA BEX H¥-3 1mb55

X8
B Fon'— C2X:0] Fi & ECER

1 1656 EA B#F KAK-3 1 m 60
2 1858 Rl T FHyiE-2 1m 60
3 1857 hnEk EAED HyiE-2 1mb55
4 1764 #H EBEX H¥-3 1mb55
5 1908 /NI #i#h o AlfE-2 1 m 50
6 1571 Ui EKRK HFE-2 1 m 50
7 1860 {EBE AR E4iE-2 1m35
8 1814 #EH HiE H¥-1 1m35



BF #adk PR
IEfL Fon— il FilE L8k

1 1759 /Mék WIBt HBF-3 3 m 50
2 172 Bl = HF-2 2 m 50
3 1710 EXK BEFE HBF2 NM



BF ENEBk PR
HEIE FUN - £ A g 08 R smE fun-— Z2:0] g soix A
1 1485 FRIS FHE-1 DNS 1 1804 k& [& BHF-1 DNS
2 1613 &L B #HF-1 4m40+1.0 2 1800 EJI| &% BF-1 DNS
3 118 A% A FHKIKF-2 4 m 70 +0.6 3 1631 EH Hth #FE-1 3 m 55 +0.8
4 1801 lLE Hth BF-1 4m 74 +0.3 4 1816 ;EH K17 BHF-1 3m 52 +0.2
5 1859 HiE hEl Huid-2 3m93 +0.2 5 1629 HE|l| {Eth #F-1 3m 45 +05
6 1560 EH HE  #F-3 4 m 49 +0.5 6 3394 KM BE¥ BF-1 NM
7 3953 ki Fok  AIfE-1 4m35+10 7 3237 FEH K#E BEBE-1 3 m 41 +05
8 1716 €H HH FHKIF-2 4m38+1.0 8 2977 LtH E BH¥-1 3m 31 +0.2
9 1851 ¥ EAKXBR B~i#E-2 4m 98 +0.4 9 1809 %% E#& BF-1 2 m 47 +0.1
10 1621 £k B #F-1 4m 41 +05 10 3526 {REE —R  FiRiF-1 3m 05 +0.3
11 1524 1k #HE HBE-3 4m94 +10 11 1815 &8 %#&F HBF-1 3m 18 +0.4
12 1855 LA #Bth  Shrig-2 5m 14 +0.8 12 2976 @8 Z“AX HBAF-1 3 m 30 +0.5
13 1721 &M@ ik  FHRE-2 5m 15 +0.2 13 1811 &£k BEA BF-1 3m14+0.8
14 1758 JII& #KX HBF-3 5m 21 +0.5 14 3397 A % H¥-1 DNS
15 1762 =% 1§ BF-3 5m 43 +0.3 15 1626 fIR HEE #E-1 3m99 +1.0
16 1656 ;EA HF  KK-3 5m 08 +1.0 16 3399 &K #th BF-1 3m 19 +0.3
17 1520 &Il ZE& HBE-3 5 m 33 +0.5 17 3401 §§0 IE#H BF-1 3 m 44 +05
18 1668 JEFE EX KK-2 5 m 60 +0.5 18 1813 {F:E HIE BF-1 4 m 29 +0.2
19 1705 #A{EAEH FtiE-3 5 m 66 +0.2 19 3540 FH G K FHRIF-1 3m 51 +0.6
20 1901 §5K Eth  AIfE-3 5m 56 +1.0 20 1625 ¥ E 4= HE -1 3m 76 +0.6
21 1848 HiE EAN HHiH-3 5m 66 +0.5 21 1808 LA E#E BHF-1 3m57 +0.4
22 1911 +@ EFE AlfE-2 5m 91 +0.3 22 1910 BN t6E  AlfE-2 3m79 +0.6
23 4365 =50 EFE BYzl#A-1 5m 84 +05 23 1480 ;&M fH##& FHEF1  4mi17+10
24 1715 KK #HF FHKKB-2 4m54+03
25 3759 Heth = BIE-1 3m95 +0.2
26 1909 k&%Zx =K EIfE-2 4m 29 +0.3
X8
IBHL Fom'— £ I FiiE FoEx A
1 1911 £@A FF EAlfE-2 5m 91 +0.3
2 4365 5HE ER BfvIleA-1 5m84 +05
3 1705 #AREAE FHKIF-3 5m 66 +0.2
4 1848 FHE EAN HHi#-3 5m 66 +0.5
5 1668 JBEfE EX KAK-2 5m 60 +0.5
6 1901 #5K @t  BIfE-3 5m 56 +1.0
7 1762 2% 1§ BF-3 5m 43 +0.3
8 1520 4hJIl EZA HBAE-3 5 m 33 +0.5



BF =B PR

IBGE Fon - LRI g ik A
1 1896 =M #n#t HlfE-3 11 m 56 +0.3

2 1758 Il &KX BF-3 10 m 94 +0.2



BF AR PR

HEIE TN - £ Al P& 0%
1 3313 EJIl # FREF- 1 5m 27
2 3760 8K FE{E  BIfE-1 4 m 60
3 1492 |lUE Eth FHE-1 5m 67
4 1852 ¥&EfA BK BuidE-2 5m 39
5 1862 FHZE 2 rim-2 5m 23
6 1577 %% BE #F-2 5m 71
7 1661 &k MF KK-2 5m 88
8 1483 & 318 THE-1 7m 20
9 1856 [EE F|/E  FridE-2 6 m 95
10 1853 #EF —&H Hyid-2 7m 23
11 1894 &M 23 2lfE-3 7m57
12 1711 15 BX HBF-2 7 m 63
13 1799 & 3+E HF-2 7 m 97
14 1557 hOgk  #  MF-3 6 m 89
15 1658 W1l &  KK-3 7m 14
16 1774 BB =ik HBHF-2 8m 24
17 1904 ®i)Il ZH‘HE  BIfE-3 8 m 42
18 1763 EAEF = BF-3 9 m 88
~RXk8
IBRL Fom'— Z2X:0] FiE 8%
1 1763 & = B¥-3 9 m 88
2 1904 @I)Il ZHRFE AIfE-3 8 m 42
3 1774 BB =X BAF-2 8m 24
4 1799 f@ 3 +H AF-2 7 m 97
5 17711 8l BX BAF-2 7 m 63
6 1894 ##H &3 AlfE-3 7m57
7 1853 HEFRT —H  BuE-2 7m 23
8 1483 & JFiE FHEF-1 7m 20



BF HABR P tER
HEIE TN - £ Al BilE: ECE%

1 3400 E9fiz =K HF-1 7m 78
2 1661 &k fMF KK-2 13 m 88
3 1799 @ 3 +HEf BF-2 18 m 38
4 17714 BB =X BF-2 22 m 19

1893 [EIM #E  AlfE-3 17 m 50
6 1894 $kMH f& AIfE-3 22 m 11
7 1658 LIl % KK-3 20 m 15
8 1904 ®@IJIl ZHRIE AIfE-3 22 m 03
9 1T iElF BX HBF-2 23m 75
10 1848 HiE EAN THi#E-3 23 m 51
11 1763 Eg&F R BF-3 20 m 07

~RXk8
IBRE Fomn— Z2X:0] & ECER

1T 17T &l BX HBF-2 23m 75
2 1848 HE EAN HHE3 23 m 51
3 17714 BB =X BF-2 22 m 19
4 1894 ##MHE @3 AlfE-3 22 m 11
5 1904 @7)Il ZRFE AIfE-3 22 m 03
6 1658 LIl % KK-3 20m 15
7 1763 % = BF-3 20 m 07
8 1799 fE@ 3 +Hf AF-2 18 m 38



